MEBERFAE (7 2h—HRIL )
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() RET 2HAM DHIARIL bR/ L=/ 724 = [0.724 |m
(5)RET DHAMN SHTRIL FLH SHBELETOER Le=| 342 Imm (Le<L/2)= [0.342 |m
4. BREEE GEOMAUT2HEEORAALTHH)
(1) REHAKFRE Kh=| 2.0 |
(2) REtARERE Kv=Kh/2=| 1.0 |
(3)FEAKFHES Fh=Kh-W-9. 8=| 4998.0 IN
(4) BERMEHBER Fv=Kv-W-9. 8=| 2499.0 IN
(5)7 wh—kIL kDBIHEH Rb= %H?ijﬁmg = 1988.2 N
(8) 7w h—HRIL FOEAWH Q=Fh/N=| 1249.5 IN
(T oh—HRILMETBHAE
O3RN E o=Rb/A=| 25.5 IMPa< ft=176. 4MPa
@t AW HE T=0/A=| 16.0 MPa< fs=132. 3MPa
QBIRELAMERBIRIT5E fts'=1.4ft-1.6 7= 221.4 MPa
Ff2L. fts' SFtO & Efts=fts', fts' >ftOE Efts=FtTHEDT fis=| 176.4 MPa
o=| 255 | WPa < fts=| 176.4 MPa
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MEBERFAE (7 2h—HRIL )

1. #ilE= A UN—ATIILFITFTaAL TYV—TSOLRTLENIZ Y b (EABRIOAL 1) —X) |

2. &= |PUHY—P450CM—E2 (—BS-—BSG) |
3. HHRFET @138
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() RET 2HAM DHIARIL bR/ L=/ 724 = [0.724 |m
(5)RET DHAN SHTRIL FLH SHBELETOER Le=| 342 Imm (Le<L/2)= [0.342 |m
4. BREEE GEOMAUT2HEEORAALTHH)
(1) REHAKFRE Kh=| 2.0 |
(2) REtARERE Kv=Kh/2=| 1.0 |
(3)FEAKFHES Fh=Kh-W-9. 8=| 4998.0 IN
(4) BERMEHBEN Fv=Kv-W-9. 8=| 2499.0 IN
(5)7 wh—kIL kDBIHEH %H?ijﬁmg = 1988.2 N
(8) 7w h—HRIL FOEAWH Q=Fh/N=| 1249.5 IN
(T oh—RILMETBHAE
O3RN E o=Rb/A=| 25.5 IMPa< ft=176. 4MPa
@t A HE T=0/A=| 16.0 MPa< fs=132. 3MPa
QBIRELAMERBIRIT5E fts'=1.4ft-1.6 7= 221.4 MPa
Ff2L. fts' SFtO & Efts=fts', fts' >ftOE Efts=FtTHEDT fis=| 176.4 MPa
o=| 255 | WPa < fts=| 176.4 MPa
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() RET 2HAM DHIARIL bR/ L=/ 724 = [0.724 |m
(5)RET DHAN SHTRIL FLH SHBELETOER Le=| 342 Imm (Le<L/2)= [0.342 |m

4. BREEFE SEOMEUT2HEEmEEALTES)

(1) REHAKFRE Kh=| 1.0 |
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2. &= |PUHY—P450CM—E2 (—BS-—BSG) |
3. HHRFET @138
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() RET 2HAM DHIARIL bR/ L=/ 724 = [0.724 |m
(5)RET DHAN SHTRIL FLH SHBELETOER Le=| 342 Imm (Le<L/2)= [0.342 |m
4. BREEE GEOMAUT2HEEORAALTHH)
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MEBERFAE (7 2h—HRIL )

1. #ilE= A UN—ATIILFITFTaAL TYV—TSOLRTLENIZ Y b (EABRIOAL 1) —X) |

2. &= |PUHY—P450CM—E2 (—BS-—BSG) |
3. HHRFET @138
(RBEE (BEEEE) W= 255 ke
(2)7vh—RIL b
DA N= 4 ES
@94 X - Wik M| 10 2
@1 RS Y QHMBTER (FFEIC& HEEE) A= 78 lm= | 78 x10° m
OWBEEEEXBADIERY EZFEHAOT U H—RIL FOBEAY Nt=| 2 ES
(BBEAELYRBRBELETORS He=| 576 = [0.576 |m
() RET 2HAM DHIARIL bR/ L=/ 724 = [0.724 |m
(5)RET DHAN SHTRIL FLH SHBELETOER Le=| 342 Imm (Le<L/2)= [0.342 |m
4. BREEE GEOMAUT2HEEORAALTHH)
(1) REHAKFRE Kh=| 1.0 |
(2) ZEABERE Kv=Kh/2=| 0.5
(3)FEAKFHES Fh=Kh-W-9. 8=| 2499.0 IN
(4)RERSMEHBES Fv=Kv-W-9. 8=| 1249.5 IN
(5)7 wh—kIL kDBIHEH Rb= Fh'th(vLV:Zf_ng = 699.0 N
(8) 7w h—HRIL FOEAWH Q=Fh/N=| 624.8 IN
(T oh—RILMETBHAE
D3I3RBHE o=Rb/A=| 9.0 IMPa< ft=176. 4MPa
@t A HE T=0/A=| 8.0 |MPa< fs=132. 3MPa
QBIRELAMERBIRIT5E fts'=1.4ft-1.6 7= 234.2 MPa
Ff2L. fts' SFtO & Efts=fts', fts' >ftOE Efts=FtTHEDT fis=| 176.4 MPa
o= 9.0 [MPa < fts=| 176.4 MPa
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